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PUZZLE 01

P,Q,R,S, T, UandV are seven students who are the toppers of a class
and are sitting in a row in the library facing north. They all have scored
different marks out of 50. They got different ranks in the class based on
marks in this exam. They like different brands of mobile viz; Apple,
Lenovo, Redmi, Samsung, Motorola, Gionee, HTC but not necessarily in

the same order.

The third rank holder is in third place from the sixth rank holder, who
scored 7 marks less than the average marks of seven students but these
two are not on the extreme ends. Marks of S are 36. Q, who likes mobile
of Motorola brand scored more marks than only three students and iIs
seated fourth to the right of P, who is second topper and is seated on the
extreme end of the row. V does not like mobile of Redmi brand. mark of
R is 32 and 3 marks less than the average marks of all students. P likes
mobile neither of Lenovo brand nor of Redmi brand. The seventh rank
holder is second to the left of R, who is not third or sixth rank holder.

Seventh rank holder scored more than 25. U, who likes mobile of HTC

brand is near to Q but is not first rank holder. T does not like mobile of
Redmi brand. P did not scored 40 marks. V is not the topper and topper
scored 46 marks. Sum of the marks of first rank holder and seventh rank
holder is equal to the sum of the marks of second and fifth rank holder.
The one who got third rank likes mobile of apple brand. T likes neither of

Samsung brand mobile nor of Lenovo brand.
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P.Q R, S, T, U 3RV HId BT & 9l TP H&11 b IR & 3R Rasred 8 S
B 3R g H¥P U Ufaad H 9 g1 39 I 7 50 # I SIET-3eNT 3 UTed
fpu 81 59 Ut | il & SATYR W I8 P&TH -3 I fiell 81 37
orat, Tadif dfea st gl fr s s A gl |

AR ¥ YR B3I ¥ YR 4 dia M R 3, g I &l & ofiva
31 ¥ 7 3P FH U fpu § afe= a4 N1 sifcr SR W8I 81 S & 3i 36
g1 Q, o HIeRIeT §is $T HIagd Udg 8, A Had a9 o A HfUd 3fd
Ut fPU & iR 98 P P aTS 3R =N TITH TR 307 8, il gORT 210R @ 3NX U
& 3ifdH TR W 93T 81 V i ISHI FiS T HIGISd UGS 61 81 R BT 3P 32
g SR 9 S & 3NTd 3(PI ¥ 3 3P FH g1 P B 7 df A4IGl i BT 3R
9 €1 YS! 9 &1 HiaSd e g1 Tad] 3P YRP 3R & 914 q gAY U
R 8, S ) a1 B3 ¥ YRS 81 81 ATl ¥ YRS 1 25 | AP 3ip
U fPu g1 v, R HTC s &7 Hiarsd e 8, Q & Rdc § Afe uge
IP YRP 81 21 T DI ISH! §ig BT HIAISd TS Al 21 P A 40 3i% YT g1
fFd | v eTuR A81 § SfiR TTUR A 46 3% UTW fhd § 1| UYH IP YRS 3R Jradi
IF YRS & 3P| BT AN gAY 3R Uid ¥ YRP & bl & TN & SI&R 2
o Tt ¥ U 88 39 TWd §is BT HI9ISd NG ol T &1 T df JHGT
SIS BT HIATSd UG § 3R 7 g1 A1l oS &1l
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PUZZLE 02 '

Ten Managers L, M, N, O, P, Q, R, S, T and U are from ten different
companies viz, TCS, HCL, Tech Mahindra, Infosys, Oracle, Wipro,
Cognizant, L&T InfoTech, Mind tree and Amway but not necessarily in the
same order. They live on 10 different floors. The ground floor is numbered
one and the topmost floor is numbered ten. Also they are sitting in two
parallel rows containing five Manager’s each in such a way that there is
an equal distance between the adjacent persons. Five of them are facing
south and five of them are facing north. Therefore in the given seating
arrangement, each member seated in a row faces another member of the
other row, but not necessarily in the same order. In rows and floors each
Manager’s belongs to different-different companies. When they sit in the
row arrangement, they belong to companies in which they work as a
freelancer’s. When they sit in the floor arrangement; they belong to
companies in which they work as a full time employee. In both

arrangements only one Manager and his company is same.

The Manager of Wipro faces south and is third to the left of T, who faces
Q. Ssits second to the right of the Manager of L&T InfoTech and opposite
to O. Manager of TCS neither lives on even number floor nor lives on floor
number seven. The Manager of TCS is second to the right of the Manager
of Oracle, who is opposite to one who is near to M. Amway’s Manager in
the row is Manager of HCL in the floor and lives immediate above O but
not the topmost floor. Manager of L&T InfoTech lives above the Manager
of Tech Mahindra in the floor. L and P sit in the same row. M lives
Immediate above the Manager of Cognizant. Manager of Amway lives

abovethe floor on which R lives. The Manager of Tech Mahindrais neither

©

U nor P and not near to U but faces south.
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U faces the Manager of Cognizant.Cognigant who is second to the right
of M and face north but not on the extreme end. The Manager of Mindtree
IS second to the right of Q. O and N are immediate neighbours but one of
them is near to the Manager of Cognizant, who is facing north. Manager,
who is immediate right of Manager of Mindtree in the row, is the Manager
of L&T InfoTech in the floor and that Manager is not Q and P. Four
Managers live between Manager of TCS and R, who is not the Manager of
Infosys, oracle and Mind tree. In floor, Manager of Infosys lives on odd
number floor but below floor number five. In row, HCL’s Manager is the
Manager of Mindtree in the floor. In floor, only one Manager lives above
the U. In row, Manager, who sits opposite to S, lives on floor number
seven and is immediate above the Manager of Tech Mahindra. The
Manager of HCL Is immediately next (either left or right) to O. In floor,
Manager of Cognizant lives on the lowermost floor. In floor, Manager of
Oracle lives on immediate below the floor on which P lives. L is Manager

of Infosys in the floor.
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o9 YaU® TH, TH, T, 3ff, 4, 7Y, 3R, T, € 3R g & 3IaT-3eFT HU-al ¥ B,
a9 ¥rfivw, Toriiva, ¢ afds, eIk, sivea, fam, silce, ta @ &
S hIcd, AISS ¢ 3 THA | dfb o=t g1 f 330t 9 § 1. 9 10 SIeNT-3e
HfoTdl TR ¥8d 81 Yad 31 & Th ¢ 3R G99 SHU! Hiord &1 911 g 81 91y
g1, 9 & gUHiaR Ufeadl # 96 &, o 3 ud® o Uig Ue U g, difd o faadl
& g GUM g3 811 S8 | Ui BT G 301 1 3R § 3R S8 § Uid &1 g
IR DI 3R 81 SHAT &} 715 964 Pl AT H, TH Ui H 9 TP Jod BT g
Tl UfeT & fhdt o0 Tewa @t 3R §, Afh sIvest Ag1 fob 330t opu o @11 ekl
3R il § U® USYP S-S STl & Hafie g1 o9 9 ufed sgawim o
454 g, a1 d 3 Sl I Jafd gid § o8 3 WAk & U d ST Hed § | oid
d Xl B a1 T 93d §; 9 37 HUIl A Jafta § forqd 3 yuisifos sHant &
Y H HTH B g | &I gaRIT3 # Had Th YaU® 3R TP HU TP gl ¢ |
N & yeayd FTHE U P MR IR B TF I A TN YA RE, QP
@ ¢ | 9Td | ST &1 YaU® RPd & JaUS & o/ I gas ™M W g, &1 T
& fApcan aafed & faudia 81 ifda A THa &1 ydus ToRiied &1 ydus® g 3R on
¥ 31 HUR T&dT § Al Jad SHudt "ot W 81| Tatsd! s7hIesd &1 Ao
P HIZE & BoR & SHUR drdll Hifd R IEdI I L3R P TS gl Ul A 9 81 M,
HIRIGic & YGYP &b 316 SHUR ¥gdl 8 | THA BT YU R Forg w#iore 1R 7gd1 8 S9&
SR ITATSI P AR PIUEUFT T UG MR TS P 3R T8 U & AoISIP "6l &
AfpT TS 4@ e ot 3R g1 U T 4 Bieic & U§UP B 3R g1 BIeic
St M & T18 3R g VI TR 7 3R W 3 3R 3T ¢ afdp 3ifaw R ) 78!
g1 UISSd! 3T Y6UP Q & 1A I ga¥ I W g1 0 3R N Fdweaq usiit & afea
T4 A TP IS P UGUP & e g, S IR Bt 3R 79 fhd g 81 Uau, il
Ufed H AISSdl & YyaU® & fAdpead gId g, dfora # vd Us & shic® &1 UsYd o
3R 98 YdUP Q 3N P T8I 81 TCS & Uy 3R R, SN SHIFAY BT Udh 81 8, P
19 IR USY®P ¥8d & | S d 3R 1SS i
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Ui & i vgar g | ufed o, Tariied &1 yau, Hivia R Argsd] 1 uey® 8| uioa
H, $9d UP U§YP U & HUR ¥8dT ¢ | UTeT |, yae®, 5t s & faudia 941 g, dfera
BT AT TR IgdT ¢ MR P AT & YaUF & 31 S ¢ | TAHITA BT YGUF O
& 3P I | (@Y T gI0) g1 HivTa ¥, FiRcie o1 Y6Ud Jad fAadt dfora
TE:’?IT%I mﬁﬁlﬁWPmamm:ﬂ%aﬁﬁﬁﬁlﬁWOracleﬁﬁwm
g1 L #3f5d R Wiy &1 UeY® .
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PUZZLE 03

Nine students - K, P, W, Q, S, T, G, C and L were told to prepare a
PowerPoint presentation on nine different topics - Global warming,
Landslides, Space world, Online Education, Secular world, Power of Media,
Bermuda triangle, Cyber Crime and Incredible India but not in the same
order. All of them will get a time of 30 mins for the presentation starting
from 10 am in the morning and the sequence is based on a lottery held

just before the presentation.

K gives presentation on Global Warming. Five presentations were given
between the presentations on Online Education and Global Warming and
three between Secular India and Online Education. Neither G nor W
discussed on Power of Media. G won the lottery and he will present his
presentation at 10 am but not neither on Bermuda triangle nor on Space
World. Four students presented their presentations between G and L who
presented immediately before or immediately after the one who discussed
on Cyber Crime. Three students presented between the students who
discussed on Cyber Crime and Bermuda triangle. Q presented immediately
before W and both of them neither discussed on Cyber Crime nor on
Bermuda Triangle. Number of students presented after P is one less than
the number of students presented before Q. P was not the last person but
there is a difference of more than 2 hours between the presentations of P

and S. C presented on Landslides but after T who did not give presentation

©

at 12 pm but before it.
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MBE-K P, W, QS, T, G, C 3R LB AeT-3eT faudy - wetad aifif, dewss,
3R FAhISTd 33T R TP uraRuUise UeicuiexM dUR &3 & forw war war o7 |fe
ATITD ol fb T FU 69 A gl 17T 51 It &1 Ueiduien= & fore qatg 10 s A =
Hd U 30 firTe &1 99T fUa ofik 3961 HH Usicuie I I 1% Ugd Siford dledt W
TR 81

K Teliad qIfHiT R USiesie R &dT 81 ITHar 591 TdRI 3R Taigd arfT uR Smemia
USidoieRE & 19 Ui USicsicnd & € dUT GgeR a8 SR 3ITersd TR W
TYTRE Usicsie & g dIF Usicsie R ¢l 51 7 df 6 3R 7 g W  uTar 3t Hifsar
R UsieoiexM &t G 7 dlest Siid! 3 98 Yalg 10 §of (U=t Usieoie R T dfhd ag
dl SRYST T AT WR 3R 7 &1 W 968 W Yoicuie I ear 81 G 3R L & g a1 I Bl A
T ST UEgd 3, P1 3R L 7 SR H1eH TR Usiewic ¥ ¢ arat B & 1 ugal
g1 31 q1¢ Usicuie R &f | HIgaR HIsH 3R SRYST 2T A TR Usicuie A ¢ ard Bl &
d d9 B A UueH M &1 Q3 W & 319 Ugd UsidsierE &Y iR A g A T af 9IS eR
PISH TR 3R 7 g1 SXHST T GTd WR UsieolexM &t | P & 916 UsicsieR ¢ ard Sl &1
ST, Q T Ugd Ueicul e & aTel BTE| & W& J T $H g1 P Siferd safay 18 ¥1 afe
P 3R s B! Uoleuic T & 19 2 He A 4P &7 ¥ 21 € A ASES W Usicwiex dt
AP I T & 91 Usiesie R d&f 3R T 7 USieoleR{ 3MURTE 12 Tl g1 diewh 399 Ugd
ol
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ANSWER

Samsung

Apple
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Redmi

HTC

lenevo

PUZZLE 02

Floor ¥ Manager Company

10 N L&T
InfoTech
TCS
HCL
Amway
Tech
Mahindra
Oracle
Wipro

OV N0
grlielfe] e

Infosys

Mindtree

=N O
- | =P |

Cognizant

TCS Tech Mahindra Wipro L&T InfoTech
T L S U P
| | | | |
' L Oralle ' .
] ] | | ]
I | | | ’l
Q M 0 N

HCL MindTree Cognizant Infosys

Amway
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PUZZLE 03

Time name |Topic

10.00 am |G Incredible india
10.30 am |S Online education
11.00 am |T Bermuda triangle
11.30 am |Q Power of media
12.00 am |W Space world
12.30 am |L Secular india
1.00am |P Cyber crime
1.30am K Global warming
2.00am |C landslide
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INPUT & OUTPUT

Find the logic applied in each step and apply the same for the given input and

answer the questions given below.

Input Step-1 Step-2 Step-3 |Step-4 | Step-5
Time Along eimt stiaw im3 nl6ta6 #uzhn% |#zonh% |#mp%
Tide Waits gnola edit id3 #ok he%

Friends Life sdneirf korw dr8if3 or3 |#eq #fn #gn sh% #lu%
Work Forever |eifl reverof |eo8 hg% ns%

Pink Beauties rewef kinp |ee6in3 ut7 |#fd ho% |#zfuo% |#dw%
Lasts Fewer seautieb stsal [ta6 tu% #uz

Step 5 is the last and final step. Using the same logic, find the output for the
following input and answer the question given below.

Input

Basic Terminal
Type Solution
Signal process
Sign Assembled
Paint Success
Future colour

1. What is the sum of all the odd numbers in step 2 of the given input?

A. 26

B. 28

C.18

D. 24

E. None of these

2. Which of the following is the output of step 4 of the second statement of the
given input?

A. #rt hn%
B. #oh tr%
C. #hn rt%

D. #tr oh%
E. None of thesea

©
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3. What is the final output of the third statement of the given input?

A. #rx%
B. #tv%
C. #xr%
D. #vt%
E. None of these

4. Which of the following word determines the step 2 output of "sr8" in the
given input?

A. Sign

B. Success

C. Process

D. Signal

E. None of these

5. Which of the following determines the step 3 output of "kp% xq%" in the
given input?

A. Type terminal
B. Success colour
C. Basic solutions
D. Colour type

E. None of these
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CODING DECODING

In a certain code language, The consonants up to M are coded with the

first four prime numbers i.e., B = 2, C = 3, and so on (After 7, start the

numbering from 2 again). The consonants from N to Z are coded with the

first four composite numbersi.e., N = 4, P = 6, and so on (After 9,

start the numbering from 4 again). Vowels A, E, I, O, and U are coded as

@, $, %, & and # respectively.

The codes are written from left end to right end. If two or more condition

is applicable then consider all the conditions.

Condition 1: If the first and last letters are vowels, then both the codes for

the vowels are to be interchanged and the vowels except them are to
be coded as ‘*'. (For example ACTIVE - $36*8@)

Condition 2:If the second letter of a word is a vowel, then code the letter

with the corresponding code and all the vowels following
it will be coded as ‘Y. (For example TECTONIC -6$36!4!3)

Condition 3: If the second letter of a word is a consonant, then code the

letter with the code for the alphabet which comes after a gap of 2 letters

in the given alphabet series. (i.e., the code for ‘B’is the code for ‘E’ and so

on, after Z start with A again)

Condition 4: If the first and last letters are consonants, then both the

consonants are to be replaced with the code for the next alphabet in

the given alphabet series. (For example, the code for ‘B’ will be coded with

the code for ’C’a on, after ith A again‘@,
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Condition 5: If in a word, none of the conditions follows, then code the

consonants and vowels with the corresponding code and then reverse the

entire code.
Note:

1. If conditions 2 or 3 and 1 follows, then give first priority to condition 1

and then condition 2 or 3.

2. If conditions 2 or 3 and 4 follows, then give first priority to condition 4

and then condition 2 or 3.

3. If more than two conditions follow between conditions 1 to condition

4, then coding will be done based on the final condition.

1) Find the code for the phrase ‘SMART WORK EASY’ using the given conditions?
A. 463@4 57&# @46!

B. 66@9%# 4&92 $@46

C. 83!13 7216 943!

D. 7242! #54@ 83!%

E. None of these

2) What will be the possible word for the code ‘5&44!46'4# $8$926’° with respect to the

given conditions?

A. CONTINUOUS ACTIVE

B. SUBSTITUTE OBJECT

C. PERMANENT COURSE
D. CONSISTANT ENERGY

E. Cannot be determined
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3) How can the word ‘CONTINGENT SPECIES’ be coded as per the conditions?

A. 514214&846!# 6$3$4%6
B. 28%76!@23! 4256 @&4
C. 5&46!42!4# 64$3%%$6
D. 4#64123!4!7 34%2& @3
E. None of the above

4) Find the word which best suits to the code ‘8863&2&28’ using the given conditions.
A. PSYCOLOGY

B. PHENOMINA

C. ENLIGHTED

D. SYNERGIZE

E. Cannot be determined

5) What will be the code for the word ‘ADVENTURE’ with respect to the given

conditions?

A. $58%46#9@
B. @28%46#9%
C. @58%$46#9%
D. $28*46*9@

E. None of the above
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ANSWER

INPUT & OUTPUT
1. Answer: B
2. Answer: D
3. Answer: A
4. Answer: C
5. Answer: D
Input Step-1 Step-2 Step-3 | Step-4 Step-5
Basic terminal Cisab la6 mi7 yp3 #jz lj% #zo x1% | #mz%
Type solution |lerminat eypt no10 xq% #on

snoitulos
Signal process Lignas gn5 sr8 ig3 fo% #tq #troh% |#pq%
sign ssecorp nigs es10 hh% #fr
assembled delbmessa
Paint success |Tniap sseccus na6 su8 tu5 #oz #itt #zt vp%  #rx%
Future colour |Euturf rolouc |lo5 sv% kp%

Step 1: For words having odd-numbered letters, reverse the letters of the

word. For words having even-numbered letters, interchange the first and
last letter of the word.

Step 2: For words having odd-numbered letters, take the second letter
from both the ends of the word and add 1 to the total number of letters
of the word. For words having even-numbered letters, take the middle

two letters and subtract 1 from the total number of letters of the word.

Step 3: For an odd number, the first letter is replaced with the immediate

previous letter mae second Ieaced with tbr'jediate
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next letter in the English alphabet and add % at the end. For even number,

vice versa to the odd number and add # at the first.

Step 4: Combine both # elements as well as % elements by taking the letter
with the highest corresponding number from each element along with
their symbol. (letter with higher corresponding value is at left and lower

corresponding value is at right within an element)

Step 5: Combine both # and % into one element by taking the second

previous letter of the letter with the lowest corresponding letter from #

element followed by the second next letter of the letter with the highest

corresponding letter from % element.

CODING DECODING

1) Answer: B

By condition - 3,4, SMART => 66@9#

By condition - 2,4, WORK => 4&92

By condition - 2 EASY => $@46

2) Answer: D

By condition - 2,4, 5&44146!4# => CONSISTANT
By condition - 3, $8$926 => ENERGY

3) Answer: C

By condition - 2,4, CONTINGENT => 5&46!42!4#

By condition - 3,4, SPECIES => 64$3%%6
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By condition - 3,4, 8863&2&28 => PSYCOLOGY

5) Answer: D By condition - 1, 3, ADVENTURE => $28*46*9@

GIVE YOUR FEEDBACK IN COMMENT SECTION
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